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(a) Overlap is less than 100% of groundwater (GW) recharge; most GW is drained by the rivers (equals low flow of water courses). But part of South Africa is in the arid zone and
some gw escapes and evaporates or flows out into the sea.
(b) FROM:  Botswana: 0.6/2 (Limpopo (border));  Lesotho: 5.2;  Swaziland: 1.1
(c) South Africa receives an increasing, guaranteed amount of water, from 0.057 km3/yr in 1995 to 2.208 km3/yr in 2020.
(d) FROM: Swaziland: 1.1 (Name?); Lesotho: 5.2 (Orange); Botswana: 0.6/2 (Limpopo  [border- ZAF/ZWE])
(e) Orange R. to Namibia. Used to be 0.5+0.6 until 2007/12/31
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Computation of long-term annual renewable water resources (RWR) by country (in km³/year, average)
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